		Summary of Bids Received	d								
Pro	ject: Multiple Bike Path Abutment R	epairs									
Section: 16-00173-14-BR											
Descrip	tion: Robert McClory Bike Path over	Russell Road and IL Route 173									
CPMS	5 Pin: B-00688										
Let I	Date: 7/19/2016										
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng Estimate					
Acura Inc.	556 County Line Rd	Bensenville, IL 60106	Bid Bond	\$604,503.00	60.62%	\$228,153.5					
Era-Valdivia Contractors Inc.	11909 South Avenue	Chicago, IL 60617	Bid Bond	\$619,085.42	64.50%	\$242,735.9					
Path Construction Company	3550 W. Salt Creek Lane	Arlington Heights, IL 60005	Bid Bond	\$622,700.00	65.46%	\$246,350.5					
Lorig Construction Company	250 East Touhy Avenue 1166 Lake Avenue	Des Plaines, IL 60018	Bid Bond Bid Bond	\$629,092.00	67.16% 76.12%	\$252,742.5					
Alliance Contractors, Inc.	1100 Lake Avenue	Woodstock, IL 60098	ΒΙά Βοπά	\$662,839.20	70.12%	\$286,489.7					
Engineer's Estimate				\$376,349.50							
	10.07(2)										
Design	IDOT(2)	Contract Bidder		PJT then Plan Rack							
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant						
Construction	Project File	Request By Mail		Mgr Capital Prograr	nming						

LakeCounty Division of Transportation

Bid Tabulation

Project: Multiple Bike Path Abutment Repairs

Section: 16-00173-14-BR

Description: Robert McClory Bike Path over Russell Road and IL Route 173

CPMS Pin: B-00688

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Alliance Cont	ractors, Inc.	Lorig Construct	on Company	Acura Inc.		Path Construct	tion Company	Era-Valdivia Co	ontractors Inc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price Extnd. Price		Unit Price Extnd. Price		Unit Price	Extnd. Price Unit Price		Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	28.0	UNIT	\$30.00	\$840.00	\$36.00	\$1,008.00	\$30.00	\$840.00	\$30.00	\$840.00	\$32.00	\$896.00	\$35.00	\$980.00
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	36.0	UNIT	\$40.00	\$1,440.00	\$48.00	\$1,728.00	\$45.00	\$1,620.00	\$35.00	\$1,260.00	\$32.00	\$1,152.00	\$35.00	\$1,260.00
3	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	18.0	SQ YD	\$12.00	\$216.00	\$25.00	\$450.00	\$10.00	\$180.00	\$35.00	\$630.00	\$26.00	\$468.00	\$45.50	\$819.00
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	522.0	SQ YD	\$9.00	\$4,698.00	\$8.85	\$4,619.70	\$5.00	\$2,610.00	\$10.00	\$5,220.00	\$9.00	\$4,698.00	\$9.36	\$4,885.92
5	25000210	SEEDING, CLASS 2A	0.1	ACRE	\$400.00	\$40.00	\$9,000.00	\$900.00	\$30,000.00	\$3,000.00	\$11,000.00	\$1,100.00	\$10,000.00	\$1,000.00	\$7,788.00	\$778.80
6	25000312	SEEDING, CLASS 4A	0.1	ACRE	\$2,640.00	\$264.00	\$9,000.00	\$900.00	\$30,000.00	\$3,000.00	\$11,000.00	\$1,100.00	\$10,000.00	\$1,000.00	\$11,760.00	\$1,176.00
7	25000400	NITROGEN FERTILIZER NUTRIENT	1.0	POUND	\$3.00	\$3.00	\$15.00	\$15.00	\$2.00	\$2.00	\$5.00	\$5.00	\$17.00	\$17.00	\$12.00	\$12.00
8	25000600	POTASSIUM FERTILIZER NUTRIENT	1.0	POUND	\$3.00	\$3.00	\$15.00	\$15.00	\$2.00	\$2.00	\$5.00	\$5.00	\$17.00	\$17.00	\$12.00	\$12.00
9	28100205	STONE RIPRAP, CLASS A3	5.0	TON	\$50.00	\$250.00	\$125.00	\$625.00	\$175.00	\$875.00	\$300.00	\$1,500.00	\$140.00	\$700.00	\$275.00	\$1,375.00
10	28200200	FILTER FABRIC	522.0	SQ YD	\$3.50	\$1,827.00	\$1.00	\$522.00	\$2.25	\$1,174.50	\$1.00	\$522.00	\$2.50	\$1,305.00	\$9.10	\$4,750.20
11	59000200	EPOXY CRACK INJECTION	241.0	FOOT	\$30.00	\$7,230.00	\$32.00	\$7,712.00	\$45.00	\$10,845.00	\$20.00	\$4,820.00	\$36.00	\$8,676.00	\$45.35	\$10,929.35
12	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$850.00	\$850.00	\$950.00	\$950.00
13	63000001	STEEL PLATE BEAM GUARD RAIL, TYPE A, 6 FOOT POSTS	12.5	FOOT	\$26.00	\$325.00	\$25.00	\$312.50	\$65.00	\$812.50	\$60.00	\$750.00	\$66.00	\$825.00	\$45.00	\$562.50
14	63000007	STEEL PLATE BEAM GUARDRAIL, TYPE B, 6 FOOT POSTS	25.0	FOOT	\$30.00	\$750.00	\$35.00	\$875.00	\$72.00	\$1,800.00	\$55.00	\$1,375.00	\$75.00	\$1,875.00	\$68.00	\$1,700.00
15	63100045	TRAFFIC BARRIER TERMINAL, TYPE 2	2.0	EACH	\$1,200.00	\$2,400.00	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00
16	63100105	TRAFFIC BARRIER TERMINAL, TYPE 10	2.0	EACH	\$300.00	\$600.00	\$300.00	\$600.00	\$375.00	\$750.00	\$350.00	\$700.00	\$400.00	\$800.00	\$750.00	\$1,500.00
17	63200310	GUARDRAIL REMOVAL	113.0	FOOT	\$7.50	\$847.50	\$20.00	\$2,260.00	\$20.00	\$2,260.00	\$8.00	\$904.00	\$20.00	\$2,260.00	\$8.00	\$904.00
18	63301210	REMOVE AND REERECT STEEL PLATE BEAM GUARDRAIL, TYPE A	225.0	FOOT	\$15.00	\$3,375.00	\$35.00	\$7,875.00	\$30.00	\$6,750.00	\$65.00	\$14,625.00	\$29.00	\$6,525.00	\$75.00	\$16,875.00
19	70600235	IMPACT ATTENUATORS, TEMPORARY (FULLY DIRECTIVE), TEST LEVEL 2	2.0	EACH	\$4,400.00	\$8,800.00	\$3,500.00	\$7,000.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00	\$7,000.00	\$14,000.00	\$8,250.00	\$16,500.00
20	I C200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,014.0	UNIT	\$1.00	\$3,014.00	\$1.00	\$3,014.00	\$1.00	\$3,014.00	\$1.00	\$3,014.00	\$1.00	\$3,014.00	\$1.00	\$3,014.00
21	LC600103	TRAFFIC BARRIER TERMINAL, TYPE 1, SPECIAL (RADIAL)	2.0	EACH	\$1,700.00	\$3,400.00	\$3,050.00	\$6,100.00	\$3,475.00	\$6,950.00	\$3,000.00	\$6,000.00	\$3,750.00	\$7,500.00	\$3,000.00	\$6,000.00

LakeCounty Division of Transportation

Bid Tabulation

Project: Multiple Bike Path Abutment Repairs

Section: 16-00173-14-BR

Description: Robert McClory Bike Path over Russell Road and IL Route 173

CPMS Pin: B-00688

Item No.	Pay Code	Description	Description Quantity Unit Eng Estimate Alliance Contractors, Inc. Lorig Construction Company		Acura Inc.		Acura Inc. Path Construction Company Era-V		Era-Valdivia Co	Valdivia Contractors Inc.						
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
22	LC782000	GUARDRAIL REFLECTORS	12.0	EACH	\$10.00	\$120.00	\$10.00	\$120.00	\$20.00	\$240.00	\$12.00	\$144.00	\$22.00	\$264.00	\$11.00	\$132.00
23	X0321865	ANTI-GRAFFITI PROTECTION SYSTEM	3,800.0	SQ FT	\$0.75	\$2,850.00	\$5.45	\$20,710.00	\$3.00	\$11,400.00	\$5.00	\$19,000.00	\$3.25	\$12,350.00	\$3.95	\$15,010.00
24	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	830.0	CU YD	\$30.00	\$24,900.00	\$29.00	\$24,070.00	\$60.00	\$49,800.00	\$32.00	\$26,560.00	\$77.00	\$63,910.00	\$57.75	\$47,932.50
25	X2511630	EROSION CONTROL BLANKET (SPECIAL)	540.0	SQ YD	\$2.00	\$1,080.00	\$2.50	\$1,350.00	\$2.25	\$1,215.00	\$2.00	\$1,080.00	\$2.75	\$1,485.00	\$2.88	\$1,555.20
26	X2800500	INLET PROTECTION, SPECIAL	5.0	EACH	\$300.00	\$1,500.00	\$175.00	\$875.00	\$175.00	\$875.00	\$150.00	\$750.00	\$200.00	\$1,000.00	\$177.60	\$888.00
27	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$31,700.00	\$31,700.00	\$142,935.00	\$142,935.00	\$118,000.00	\$118,000.00	\$28,000.00	\$28,000.00	\$56,777.00	\$56,777.00	\$6,500.00	\$6,500.00
28	XX006337	ARCHITECTURAL FINISH FOR CONCRETE SURFACES	3,800.0	SQ FT	\$25.00	\$95,000.00	\$31.00	\$117,800.00	\$31.00	\$117,800.00	\$32.00	\$121,600.00	\$31.00	\$117,800.00	\$42.05	\$159,790.00
29	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	218.0	FOOT	\$9.00	\$1,962.00	\$13.50	\$2,943.00	\$13.50	\$2,943.00	\$15.00	\$3,270.00	\$12.00	\$2,616.00	\$14.15	\$3,084.70
30	70012754	STRUCTURAL REPAIR OF CONCRETE (DEPTH EQUAL TO OR LESS THAN 5 INCHES)	2,436.0	SQ FT	\$65.00	\$158,340.00	\$110.00	\$267,960.00	\$94.00	\$228,984.00	\$114.00	\$277,704.00	\$110.00	\$267,960.00	\$105.00	\$255,780.00
31	Z0012755	STRUCTURAL REPAIR OF CONCRETE (DEPTH GREATER THAN 5 INCHES)	241.0	SQ FT	\$75.00	\$18,075.00	\$145.00	\$34,945.00	\$150.00	\$36,150.00	\$275.00	\$66,275.00	\$160.00	\$38,560.00	\$209.25	\$50,429.25
	Bid Total					\$376,349.50		\$662,839.20		\$629,092.00		\$604,503.00		\$622,700.00		\$619,085.42

Return Bid Details

Project: Multiple Bike Path Abutment Repairs

Section: 16-00173-14-BR

Description: Robert McClory Bike Path over Russell Road and IL Route 173

CPMS Pin: B-00688

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	28.0	UNIT	\$30.00	\$840.00	\$30.00	\$36.00	\$32.60
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	36.0	UNIT	\$40.00	\$1,440.00	\$32.00	\$48.00	\$39.00
3	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	18.0	SQ YD	\$12.00	\$216.00	\$10.00	\$45.50	\$28.30
4	21101615	TOPSOIL FURNISH AND PLACE, 4"	522.0	SQ YD	\$9.00	\$4,698.00	\$5.00	\$10.00	\$8.44
5	25000210	SEEDING, CLASS 2A	0.1	ACRE	\$400.00	\$40.00	\$7,788.00	\$30,000.00	\$13,557.60
6	25000312	SEEDING, CLASS 4A	0.1	ACRE	\$2,640.00	\$264.00	\$9,000.00	\$30,000.00	\$14,352.00
7	25000400	NITROGEN FERTILIZER NUTRIENT	1.0	POUND	\$3.00	\$3.00	\$2.00	\$17.00	\$10.20
8	25000600	POTASSIUM FERTILIZER NUTRIENT	1.0	POUND	\$3.00	\$3.00	\$2.00	\$17.00	\$10.20
9	28100205	STONE RIPRAP, CLASS A3	5.0	TON	\$50.00	\$250.00	\$125.00	\$300.00	\$203.00
10	28200200	FILTER FABRIC	522.0	SQ YD	\$3.50	\$1,827.00	\$1.00	\$9.10	\$3.17
11	59000200	EPOXY CRACK INJECTION	241.0	FOOT	\$30.00	\$7,230.00	\$20.00	\$45.35	\$35.67
12	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$500.00	\$500.00	\$500.00	\$1,000.00	\$810.00

Return Bid Details

Project: Multiple Bike Path Abutment Repairs

Section: 16-00173-14-BR

Description: Robert McClory Bike Path over Russell Road and IL Route 173

CPMS Pin: B-00688

					Eng Est	Eng Estimate			
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
13	63000001	STEEL PLATE BEAM GUARD RAIL, TYPE A, 6 FOOT POSTS	12.5	FOOT	\$26.00	\$325.00	\$25.00	\$66.00	\$52.20
14	63000007	STEEL PLATE BEAM GUARDRAIL, TYPE B, 6 FOOT POSTS	25.0	FOOT	\$30.00	\$750.00	\$35.00	\$75.00	\$61.00
15	63100045	TRAFFIC BARRIER TERMINAL, TYPE 2	2.0	EACH	\$1,200.00	\$2,400.00	\$1,050.00	\$1,500.00	\$1,270.00
16	63100105	TRAFFIC BARRIER TERMINAL, TYPE 10	2.0	EACH	\$300.00	\$600.00	\$300.00	\$750.00	\$435.00
17	63200310	GUARDRAIL REMOVAL	113.0	FOOT	\$7.50	\$847.50	\$8.00	\$20.00	\$15.20
18	63301210	REMOVE AND REERECT STEEL PLATE BEAM GUARDRAIL, TYPE A	225.0	FOOT	\$15.00	\$3,375.00	\$29.00	\$75.00	\$46.80
19	/0600235	IMPACT ATTENUATORS, TEMPORARY (FULLY DIRECTIVE), TEST LEVEL 2	2.0	EACH	\$4,400.00	\$8,800.00	\$3,500.00	\$8,250.00	\$6,150.00
20	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,014.0	UNIT	\$1.00	\$3,014.00	\$1.00	\$1.00	\$1.00
21	LC600103	TRAFFIC BARRIER TERMINAL, TYPE 1, SPECIAL (RADIAL)	2.0	EACH	\$1,700.00	\$3,400.00	\$3,000.00	\$3,750.00	\$3,255.00
22	LC782000	GUARDRAIL REFLECTORS	12.0	EACH	\$10.00	\$120.00	\$10.00	\$22.00	\$15.00
23	X0321865	ANTI-GRAFFITI PROTECTION SYSTEM	3,800.0	SQ FT	\$0.75	\$2,850.00	\$3.00	\$5.45	\$4.13

Return Bid Details

Project: Multiple Bike Path Abutment Repairs

Section: 16-00173-14-BR

Description: Robert McClory Bike Path over Russell Road and IL Route 173

CPMS Pin: B-00688

					Eng Est	Eng Estimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
24	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	830.0	CU YD	\$30.00	\$24,900.00	\$29.00	\$77.00	\$51.15
25	X2511630	EROSION CONTROL BLANKET (SPECIAL)	540.0	SQ YD	\$2.00	\$1,080.00	\$2.00	\$2.88	\$2.48
26	X2800500	INLET PROTECTION, SPECIAL	5.0	EACH	\$300.00	\$1,500.00	\$150.00	\$200.00	\$175.52
27	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$31,700.00	\$31,700.00	\$6,500.00	\$142,935.00	\$70,442.40
28	XX006337	ARCHITECTURAL FINISH FOR CONCRETE SURFACES	3,800.0	SQ FT	\$25.00	\$95,000.00	\$31.00	\$42.05	\$33.41
29	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	218.0	FOOT	\$9.00	\$1,962.00	\$12.00	\$15.00	\$13.63
30	Z0012754	STRUCTURAL REPAIR OF CONCRETE (DEPTH EQUAL TO OR LESS THAN 5 INCHES)	2,436.0	SQ FT	\$65.00	\$158,340.00	\$94.00	\$114.00	\$106.60
31	20012755	STRUCTURAL REPAIR OF CONCRETE (DEPTH GREATER THAN 5 INCHES)	241.0	SQ FT	\$75.00	\$18,075.00	\$145.00	\$275.00	\$187.85
		Bid Total				\$376,349.50			